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INSTRUCTIONS AND INFORMATION

1. Answer FOUR questions as follows in the ANSWER BOOK:
SECTION A: COMPULSORY
SECTION B: Answer any TWO of the three questions
SECTION C: Answer ONE of the two questions.

2. Answer only the required number of questions. Answers in excess of the required
number will NOT be marked.

3. Number the answers correctly according to the numbering system used in this
question paper.

4. Write the question number above each answer.

5. Read the questions carefully.

6. Start EACH question on a NEW page.

7. Leave 2-3 lines between subsections of questions.

8. Answer the questions in full sentences and ensure that the format, content and
context of your responses comply with the cognitive requirements of the questions.

9. Use only black or blue ink.
10.  You may use a non-programmable pocket calculator.

11.  Write neatly and legibly.
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SECTION A (COMPULSORY) 30 MARKS - 20 MINUTES

QUESTION 1

1.1 Various options are provided as possible answers to the following questions.
Choose the answer and write only the letter (A-D) next to the question
numbers (1.1.1 to 1.1.8) in the ANSWER BOOK, for example 1.1.9 D.

1.1.1 Comparative cost advantage shows that the world output can increase if

countries ... in what they do best.

impose tariffs

limit the use of technology

specialise

protect workers

OO mwm>

1.1.2 Aggregate supply can be stimulated through a government policy of ...
A. lowering the productivity of the factors of production.
B. reducing production factors.
C. limiting the efficiency of inputs.
D. improving the efficiency of markets.

1.1.3 The South African National Defence Force services is provided by the ...
government.

A  central

B district

C local

D  provincial

1.1.4 When the value of intermediate products is irregularly added to final products
... occurs.

accounting record

double counting

national income

national accounts

OO mwm>

1.1.5 An addition to the country’s stock of capital or capital goods is called ...
A. gross domestic product.
B. invention.
C. gross capital formation.
D. innovation.

1.1.6 An indication of long-term growth in the economy is referred to as a(n) ...
trendline.

amplitude.

extrapolation.

trough.

oow>
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4 ECONOMICS P1 (CAPRICORN SOUTH MAY 2024)

1.1.7 Ataxis proportional when ...

a general tax:is levied in each unit of the product.

the average tax rate is the same for all taxpayers.

people with higher income pay a larger percentage of their income in tax
than people with lower incomes.

it takes a larger percentage of the income of low-income earners than
those with higher income.

oW

o

1.1.8 A decrease in the value of the currency due to market forces is known as ...
A. revaluation.
B. devaluation.
C. appreciation.
D. depreciation.

(8 x 2) (16)

1.2  Choose a description from COLUMN B that matches an item in COLUMN A.

Copyright reserved Please turn over
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Write only the letter (A—I) next to the question numbers (1.2.1 to 1.2.8) in the
ANSWER BOOK for example 1.2.9 J.

COLUMN A COLUMN B

1.2.1 Real figures A an incentive given to manufacturers to
reduce the cost of production

1.2.2 Cash reserve B where resources cannot be reallocated
requirement to make one individual better off without
making at least one individual worse off

1.2.3  Subsidies C shows the way that goods and services
are produced and consumed in the
economy

124 Social grants D SARB consultation with commercial

banks to act in a desirable manner
according to prevailing economic
conditions

1.2.5 Pareto efficiency E aform of credit that the IMF can use for
a consistent disequilibrium

1.2.6 Real flow F an example of transfer payments

1.2.7 Trade balance G also known as the national product at
constant prices

1.2.8 Special Drawing Right | H value of exports minus imports

| the minimum amount of money that the
South African Reserve Bank requires
banks to maintain in order to manipulate
money creation activities

8x1) (8)

1.3 Give ONE term for each of the following descriptions. Write only the term next to the
question numbers (1.3.1 to 1.3.6) in the ANSWER BOOK.

Copyright reserved Please turn over
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6 ECONOMICS P1 (CAPRICORN SOUTH MAY 2024)

Abbreviations, acronyms and examples will NOT be accepted.
1.3.1 A sector that includes wholesale, transport, real estate and communication
1.3.2 Consumption that is independent of the level and changes of income

1.3.3 Cycles that are caused by changes in activity in the building and construction
industry

1.3.4 A curve that explains the relationship between tax rates and tax revenue
1.3.5 A summary of the value of different leading indicators into a single value
1.3.6 The exchange of goods or services across international borders

(6x1) (6)

TOTAL SECTION A: 30
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SECTION B
Answer any TWO of the three questions in this section in the ANSWER BOOK.

QUESTION 2: MACROECONOMICS 40 MARKS - 30 MINUTES
2.1 Answer the following questions.
211 Name TWO kinds of securities found in the money market. (2 x 1) (2)

2.1.2 Why does the government give transfer payments to
communities? (1x2) (2)

2.2  Study the extract below and answer the questions that follow.

KEYNESIAN ECONOMICS

The concept.of the multiplier process became important in the 1930s when John
Maynard Keynes suggested it as a tool to help governments in decision-
making. This demand-management approach was designed to help growth
and to measure the amount needed to reach high levels of national income.

Analysts believe that an increase in government spending has a multiplier effect
on the economy, while uplifting living standards for the poor.

[Adapted from www.tutor2u.net. Accessed on 10 November 2021.]

2.21 Identify an example of an injection above. (1)
2.2.2 Name a factor that influences the size of the multiplier. (1)
2.2.3 Briefly describe the term multiplier. (2)
2.2.4 Explain the use of the multiplier by the government. (2)
225 What is the negative effect of a low savings rate on economic

growth? (4)
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8 ECONOMICS P1 (CAPRICORN SOUTH MAY 2024)
2.3  Study the information below and answer the questions that follow.
WE NT GET TO ALL OF ]
THE PROBLENS FACING THE
COUNTRY, BUT WE WILL BE
South Africa, the continent’s most industrialised economy, was already in
a technical recession when the coronavirus pandemic hit in March 2020.
There were job losses, a credit crunch, increase in food and fuel pricesand
consumer confidence in the economy started to decline.
[Adapted from https://www.gov.za/sites/default/files/gcis__document/202010/sout h-
african-economic-reconstruction-and-recovery-plan.pdf. Accessed on 20 October 2021.]
2.31 |dentify the socio-economic challenge that increased when the
economy went into a slump. (1)
2.3.2 Name the lower turning point of a business cycle. (1)
2.3.3 Briefly describe the term economic recession. (2)
2.3.4 Explain the relationship between GDP and business cycles. (2)
2.3.5 Why does inflation tend to fall during recessions? (4)
24 Differentiate between the expenditure method and the income method to
determine Gross Domestic Product (GDP). (8)
2.5 How can the monetary policy contribute to economic growth? (8)
[40]
QUESTION 3: MACROECONOMICS 40 MARKS - 30 MINUTES
3.1 Answer the following questions.
3.1.1 Name TWO flows in an open circular flow economy. (2x1) (2)

Copyright reserved

3.1.2 Why is it not possible to exclude individuals from using public goods?

(2)
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3.2 Study the information below and answer the questions that follow.

3.2.1

3.2.2

3.2.3

3.2.4

3.2.5

Copyright reserved

[Source: http://www.amazon.com]

Identify the participant that owns the factors of production.
Name ONE public good provided by the state.
Briefly describe the term factor market.

What is the effect on national income if injections are less than
withdrawals?

Explain the impact of a decrease in taxes on the level of production.

(1)
(1)
(2)

(2)
(4)
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10 ECONOMICS P1 (CAPRICORN SOUTH MAY 2024)

3.3 Study the information below and answer the questions that follow.

PUBLIC SECTOR INVOLVEMENT IN THE ECONOMY

' ECONOMIC GROWTH &
O,

WE%.L?ZEAG—I FULL EMPLOYMENT

OURQOI

[Adapted from google images]

3.3.1 Identify a macroeconomic objective of the public sector in the
cartoon.

3.3.2 Which fiscal policy instrument is the main source of government
income?

3.3.3 Briefly describe the term economic growth.

3.3.4 Explain how the public sector failure can lead to social instability.

3.3.5 Why is South Africa likely to fail in achieving its economic goals?
3.4 Briefly discuss the role of firms in the circular flow.

3.5 Evaluate the impact of reducing the repurchase rate (repo rate) on the
economy.

(8)

[40]
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QUESTION 4: MACROECONOMICS AND ECONOMIC PURSUITS
40 MARKS - 30 MINUTES

4.1 Answer the following questions.
4.1.1  Name TWO types of markets that form part of the financial system. (2)

4.1.2 Why is it important to use moving averages to forecast business
cycles? (2)

4.2 Study the table below and answer the questions that follow.

NATIONAL ACCOUNT AGGREGATES SOUTH
AFRICA GROSS DOMESTIC PRODUCT
R millions
Primary sector 324 365
Secondary sector 556 708
Tertiary sector 1789 431
Gross value added at basic prices A

Gross domestic product at market prices 2 964 261

[Source: SARB Quarterly Bulletin]
4.2.1 Give an example of taxes on products. (1)

4.2.2 Name the alternative term used for gross value added in national

accounts. (1)
4.2.3 Briefly describe the term secondary sector. (2)
4.2.4 How are basic prices converted to market prices? (2)
4.2.5 Calculate the value of A. Show ALL calculations. 4)

Copyright reserved Please turn over
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12 ECONOMICS P1 (CAPRICORN SOUTH MAY 2024)

4.3 Study the information below and answer the questions that follow.

CONTRIBUTION OF THE VARIOUS INDUSTRIES TO SOUTH AFRICA'S
GDP
Agriculture, forestry and fishing: 2,59%

Personal services: 5,96%
Mining and quarrying: 8.06%

General government services:

16,74% Manufacturing: 13.53%

Electricity, gas and water:
2,31%

Construction: 3,77%

Finance, real estate and
business services: 22,39%

Trade, catering and accommaodation:
15,10%

Transpor, storage and communication: 9,55%

[Adapted from https://southafricanmi.com/south-africas-qdp.html/. Accessed on 21 August
2021.]

4.3.1 Identify the industry in the secondary sector which contributed the

most towards economic growth in the diagram above. (1)
4.3.2 Give ONE example of an industry in the primary sector. (1)
4.3.3 Briefly describe the term Gross Domestic Product. (2)
4.3.4 How does compensation of employees affect labour productivity? (2)
4.3.5 Why is the multiplier effect on manufacturing important in the

economy? (4)

4.4 Draw a correctly labelled diagram of a business cycle, clearly indicating trend

line, length, the amplitude and the trough. (8)
4.5 With reference to the Phillips curve, analyse the relationship between
inflation and unemployment. (8)
[40]
TOTAL SECTION B: 80
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SECTION C
Answer any ONE question of the TWO questions in the ANSWER BOOK.
Your answer will be assessed as follows:
STRUCTURE OF ESSAY MARK ALLOCATION
Introduction
The introduction is a lower-order response. Max. 2
* A good starting point would be to define the main concept related
to the question topic.
* Do NOT include any part of the question in the introduction.
* Do NOT repeat any part of the introduction in the body.
* Avoid mentioning in the introduction what you are going to
discuss in the body.
Body
Main part: Discuss in detail/In-depth discussion/Examine/Critically Max. 26
discuss/Analyse/Compare/ Evaluate/Distinguish/Differentiate/
Explain/Draw a graph and explain/Use the graph given and explain/
Complete the given graph/Assess/Debate
A maximum of 8 marks may be allocated for headings/examples. Max. 10
Additional part: Critically discuss/Evaluate/Critically evaluate/
Debate/Deduce/Compare/Distinguish/Interpret/How?/Suggest
A maximum of 2 marks may be allocated for mere listing of
facts.
Conclusion
Any higher-order conclusion should include:
* Abrief summary of what has been discussed without repeating Max. 2
facts already mentioned
* Any opinion or valued judgement on the facts discussed
+ Additional support information to strengthen the discussion/
analysis
» A contradictory viewpoint with motivation, if required ¢
Recommendations
TOTAL 40
QUESTION 5: MACROECONOMICS 40 MARKS - 40 MINUTES
« Discuss in detail the reasons for international trade. (26 marks)
. How can a weaker rand impact on South Africa’s trade with other countries?
(10 marks) [40]
QUESTION 6: ECONOMIC PURSUITS 40 MARKS - 40 MINUTES
» Discuss in detail the main objectives of the public sector in the economy.
(26 marks)
. How effective is the South African government in achieving full employment?
(10 marks) [40]
TOTAL SECTION C: 40
GRAND TOTAL.: 150
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SECTION A (COMPULSORY)
QUESTION 1
1.1 MULTIPLE-CHOICE QUESTIONS
1.1.1 C -  Specialise vV
1.1.2 D - improving the efficiency of markets v v
1.1.3 A- central vV
1.1.4 B -  double counting vV
1.1.5 C -  gross capital formation vv
1.1.6 A—-  trendline vV
1.1.7 B - the average tax rate is the same for all taxpayers vV
1.1.8 D -  depreciation vV (8x2) (16)
1.2 MATCHING ITEMS
1.2.1 G — also known as the national product at constant prices v
1.2.2 | — the minimum amount of money that the South African
Reserve Bank requires banks to maintain in order to manipulate
money creation activities v/
1.23 A- an incentive given to manufacturers to reduce the cost of
production v
1.24 F — anexample of transfer payments v
1.2.5 B- where resources eannot be reallocated to make one

individual better off without making at least one individual worse off
v

1.2.6 C — shows the way that goods and services are'produced and consumed in the economy

1.3

v
1.2.7 H -  value of exports minus imports v
1.2.8 E - a form of credit that the IMF can use for a consistent
disequilibrium v (8x1) (8)
GIVE THE TERM
1.3.1 Tertiary v
1.3.2 Autonomous v

1.3.3

Kuznets v
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1.3.4 Phillips v/
1.3.5 Composite indicator v/
1.3.6 International trade v/ (6x1) (6)

TOTAL SECTION A: 30 SECTION B
Answer TWO of the three questions in this section.
QUESTION 2: MACROECONOMICS

21 211 Name TWO kinds of securities that are found in the money
market

* banker’s acceptance v

* treasury bills v

* reserve bank debentures v

» short-term government bonds v

* short-term company debentures v (Any2x1) (2)

21.2 Why does the government give transfer payments to
communities?

Transfer payments are given to communities by the
government to:
» redistribute of income / (alleviate or reduce poverty) vV
» correcting the imbalances of the past / promote equality vV

+ close the gap between the rich and the poor vV
(Accept any other correct relevant response.) (Any 1 x 2) (2)

2.2 DATA RESPONSE
2.21 Identify an example of an injection above.
Government spending v/ (1)
2.2.2  Name a factor that influences the size of the multiplier.
Mpc/mps v (1)
2.2.3  Briefly describe the term multiplier.

+ Shows how an increase in spending produces a more than proportional
increase in national income. v'v/
(Accept any other correct relevant response.) (2)

2.2.4 Explain the use of the multiplier by the government.

Copyright reserved Please turn over
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*+ The government uses the multiplier to determine the total effects of
investments, export income and government
spending on the economy v'v'

(Accept any other correct relevant response.) (2)

2.2.5 What is the negative effect of low savings on economic growth?

* Nointerest is earned when others borrow from the banks v'v*

* Low savings rate can lead to lower rate of economic growth v'v/

* Less savings may decrease the distribution of income in the country v'v/
(Accept any other correct relevant response.) (Any 1 x 2) (2)

2.3 DATA RESPONSE

2.3.1 Identify the socio-economic challenge that increased when the
economy went into a slump.

Unemployment/job losses v/ (1)
2.3.2 Name the lower turning point of a business cycle.

Trough v (1)
2.3.3 Briefly describe the term economic recession.

A negative economic growth rate for at least two consecutive quarters/a decline of
economic output that lasts for 6 months or longer. v'v*
(Accept any other correct relevant response.) (2)

2.3.4 Explain the relationship between GDP and business cycles.

+ the business cycle model shows how a nations real GDP fluctuates overtime going
through phases as aggregate output increases and decreases v'v'
+ over the long-term the business cycle shows a steady increase in the potential
output in a fast-growing economy v'v/
(Accept any other correct relevant response.) (2x2) (4)

2.3.5 Why does inflation tend to fall during a recession?
Inflation falls during recession because:
* businesses have unsold goods and will try discounting their goods to get rid of their
excess stock vV’
» reduced prices of goods lead to lower costs — pushing inflation down. v'v/
+ as unemployment rises, it becomes harder for workers to bargain for higher wages
vV

* low confidence in an economy usually reduces inflation expectation v'v*

Copyright reserved Please turn over
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(Accept any other correct relevant response.) (Any 2 x 2) (4)

2.4 Differentiate between the expenditure method and the income method to
determine Gross Domestic Product (GDP).

EXPENDITURE METHOD

GDP at market prices is determined by adding the spending of the four main
sectors of the economy — households, government, businesses and the foreign
sector vV’

Using this method to determine GDP yields GDP at market prices v'v/

Also known as GDP(E) vV

GDE =C+I+G while expenditure on GDP =C+[+G+X-M v'v/

INCOME METHOD

GDP at factor prices by adding all the income earned by the owners of the factors
of production (gross domestic income) v'v*

This method yields GDP at factor cost v'v/

Also known as GDP (I) v'v" (8)

2.5 How can monetary policy contribute to economic growth?

3.13.11

The monetary policy contributes to economic growth by:

Increasing the money supply to advance credit to households and companies,
affecting consumption and production positively v'v/
Implementation of open market transactions by buying back securities and bonds,
will increase money available for loans v'v/
Adjusting interest rates downwards to allow consumers to borrow more money,
which will stimulate demand for goods and services and influence production
positively v'v/
Decreasing cash reserve requirements that will allow banks to loan out more
money that will stimulate production v’ v (4 x2)(8)

[40] QUESTION 3: MACROECONOMICS

Name TWO flows in an open circular flow economy

Real flow v/
Money flow v/ (2x1) (2)

3.1.2 Why is it not possible to exclude individuals from using public
goods?

It is impossible to prevent individuals from enjoying the benefits v'v’
It is not possible because once public goods have been provided, they can be used
by everyone v'v/

(Accept any other correct relevant response.) (Any1x2) (2)

3.2 DATA RESPONSE

3.2.1 Identify the participant that owns the factors of production.

Households/consumers v (1)

Copyright reserved Please turn over
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3.2.2 Name ONE public good provided by the state.

*  Education v
* Health v
*  Welfare services v
* Housing v
(Accept any other correct relevant response.) (Any1x1) (1)

3.2.3 Briefly describe the term factor market.

It is a market where factors of production are bought and sold. v'v*
(Accept any other correct relevant response.) (1x2) (2)

3.2.4 What is the effect on national income if injections are less than
withdrawals?

National income will decrease/fall/decline. v'v/ (2)

3.2.5 Explain the impact of a decrease in taxes on the level of
production

+ disposable income will rise and expenditure on goods and services will increase
vV

* level of production will increase as the multiplier will increase v'v/
(Accept any other correct relevant response.) (2x2) (4)

3.3 DATA RESPONSE

3.3.1 Identify a macroeconomic objective of the public sector in
the cartoon.

« Economic growth v

*  Full employment v/ (Any 1x 1) (1)
3.3.2 Which fiscal policy instrument is the main source of government
income?
Taxes/taxation v/ (1)

3.3.3 Briefly describe the term economic growth.
Increase in the productive capacity of the economy/an increase the production of goods and

service in a country. v'v'
(Accept any other correct relevant response.) (2)

Copyright reserved Please turn over
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3.4

3.5

3.3.4 Explain how the public sector failure can lead to social instability

Public sector failure can lead to social instability when:
» There is poor service delivery of goods and services. v'v'

+ There is an increase in poverty due to a lack of skills as a result of poor education.
vV

(Accept any other correct relevant response.) (Any 1 x 2) (2)
3.3.5 Why is South Africa likely to fail in achieving its economic goals?

« Officials in management often lack knowledge, implement
government policies wrongly, have hidden agendas Vv e.g.,
selfenrichment v'v*
» Government employees lack motivation in c¢arrying out their duties v'v/
Lack of efficiency due to incompetence and corruption v'v/
» Bureaucracy can cause delays in implementation of projects v'v'
(Accept any other correct relevant response.) (Any 2 x 2) (4)

Briefly discuss the role of firms in the circular flow.

* Firms purchase the factors of production from households in the factor market v'v*

* They use the factors of production to produce goods and services v'v/

* Businesses sell these goods and services to households, government and the
foreign sector v'v/

* They act as buyers in the factor market and sellers in the goods market, with profit
as their aim v'v'

* Businesses receive an income from the other three participants v'v*

(Accept any other correct relevant response.) (Any 4 x 2) (8)

Evaluate the impact of reducing the repurchase rate (repo rate) on the
economy

POSITIVES

* Encouraging borrowing by economic participants as the prime interest rate
charged by the commercial banks may also decrease v'v'

* Reducing the financial burden on business and consumers with prime linked loans
as repayments decrease vV

* Increasing aggregate demand of goods and services as lower interest rate
discourages savings v'v’ (Any 2 x 2)

NEGATIVES

* Reducing the country’s attractiveness as an investment destination as lower
interest rate led to lower return on some investment portfolios v'v*

+ Leading to a depreciation of the currency against the major currencies therefore
making imports expensive vV’

+ Causing inflation if increase in total demand is not accompanied by increase in
total supply v'v/ (Any 2 x 2)

(Accept any other correct relevant response.) (4+4) (8)

[40]

Copyright reserved Please turn over
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QUESTION 4: MACRO ECONOMICS AND ECONOMIC PURSUITS

4.1 4.1.1 Name TWO types of markets that form part of the financial system.

» Capital market v
*  Money market v’ 2x1) (2

4.1.2 Why is it important to use moving averages to forecast
business cycles?

It removes fluctuations in economic data which makes it easier to predict business cycles.
vV
(Accept any other correct relevant response.) (1x2)(2)
4.2 DATA RESPONSE

4.2.1 Give an example of taxes on products.

« VATV
» Sin tax / excise duty v’
* Fuellevy v
(Accept any other correct relevant response.) (Any 1x1) (1)

4.2.2 Name the alternative term used for gross value added in national
accounts.

Gross Domestic Product/GDP v/ (1
4.2.3 Briefly describe the term secondary sector.

It refers to a sector where goods and services are produced. v'v’
(Accept any correct relevant response.) (1x2) (2

424 How are basic prices converted to market prices?
Taxes on products are added to and subsidies on products are subtracted from GDP
at basic prices to get gross domestic product at market prices v'v'/ GVA
at basic prices PLUS taxes on products MINUS
subsidies on products = GDP at market prices. v'v' (2)

425 Calculate the value of A. Show ALL calculations.

324 365 + 556 768 + 1 789 431 vV
=2760 564 vv

Copyright reserved Please turn over
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(Award 2 marks for answer only.) (2x2) (4)

4.3 DATA RESPONSE

4.3.1 ldentify the industry in the secondary sector which contributed
the most towards economic growth in the diagram above.

Manufacturing v’ (1x1) (1)
43.2 Give ONE example of an industry in the primary sector.

Mining / agriculture / forestry / fishing v* (Any 1x1) (1)
4.3.3 Briefly describe the term Gross Domestic Product.

Refers to the total value of final goods and services produced within the
borders / boundaries of the country during a specific period of
time. vv/ (2x1) (2)

434 How does compensation of employees affect labour productivity?

» Lack of reward decreases employees’ productivity v'v'
» Rewarded employees can lead to increased productivity v'v’
(Any 1 x 2) (2)

4.3.5 Why is the multiplier effect on manufacturing important in the
economy?

* Manufacturing has so many substantial links with so many other
sectors throughout the economy, its output stimulates more economic
activity across society than any other sector v'v'
+ Creates job and investment opportunities in all the other sectors that use its
products, such as transportation, construction and retail. v'v*
» It spurs growth and services such as finances and transportation. v'v*
(Accept any other correct relevant response.) (Any 2 x 2) (4)

4.4 Draw a correctly labelled diagram of a business cycle, clearly
indicating trend line, length, the amplitude and the trough.

Copyright reserved Please turn over
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BODY
Levelof v4 v
economic
activity
A
A i
i
]
' ALLOCATION OF MARKS
Amplitude : Labelling of axes = 2 marks
v ; Indication of amplitude = 2 marks
o Length of cycle = 2 marks
! Trehd line = 2 marks
L 3 Shape of cycle = 2 marks
B P Maximum: 8 marks
i 1
: i
; i
0 B Length vV "D Time v

(8)

4.5 With reference to the Phillips curve, analyse the relationship between
inflation and unemployment.

e The Phillips curve shows that inflation will increase if there is less
unemployment v'v/

* Avery high inflation can lead to stagflation v'v/

 The demand for goods and services can be stimulated without increased
employment v'v/

» Capital intensive production processes would not necessarily contribute to
further job creation v'v/

* The worker might make use of extended credit facilities to enjoy the same
standard of living when they experience price increases v'v’

» Skills development and improved education that increases employment will
create an increased demand for goods and services v'v'

» Inflation targeting (3%—6%) will prevent stagflation v'v/

(Accept any other correct relevant response.) (Any4x2) (8)
[40]

TOTAL SECTION B: 80 SECTION C
Answer ONE of the TWO questions in this section.

QUESTION 5: MACROECONOMICS
+ Discuss in detail the reasons for international trade. (26 marks)

* How can a weaker rand impact on South Africa’s trade with other
countries? (10 marks)

Copyright reserved Please turn over



Downloaded from Stanmorejphysicsecom 11
INTRODUCTION

International trade involves the exchange of goods or services across different countries in
the world. v'v/
(Accept another correct relevant introduction.) (Max. 2) (2)

MAIN PART

The size of the population v
+ If there is an increase in population growth, it causes an increase in demand, as
more people’s needs must be satisfied. v'v’
» Local suppliers may not be able to satisfy this demand. v'v/

Income levels v
« Changes in income cause a change in the demand for goods and services v'v'
* Anincrease in the per capita income of people results in more disposable income
that can be spent on local goods and services, some of which may then have to
be imported v'v’

An increase in the wealth v

* An increase in the wealth of the population leads to greater demand for goods.
vV

* People have access to loans and can spend more on luxury goods, many of
which are produced in other countries. v'v'

Preferences and tastes v
» Preferences and tastes can play a part in the determining of prices v'v' e.g.,
customers in South Africa have a preference for a specific product which is not
produced locally and need to import, and this will make that product to have
higher value than in other countries v'v/

The difference in consumption patterns v’
+ The difference in consumption patterns is determined by the level of economic
development in a country v'v/
* For example, a poor country can have a high demand for basic goods and
services but a lower demand for luxury goods v'v/

Natural resources v
» Natural resources are not evenly distributed across all countries of the world v'v*
* They vary from country to country and can only be exploited in places where
these resources exist v'v"  Climatic conditions v’
« Climatic conditions make it possible for some countries to produce certain goods at
a lower price than other countries v'v’

« For example, Brazil is one of the biggest producers of coffee in the world v

Labour resources v

» Labour resources differ in quality, quantity and cost between countries. v'v'

+ Some countries have highly skilled, well-paid workers with high productivity
levels, e.g., Switzerland v'v/
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Technological resources v
« Technological resources are available in some countries that enable them to
produce certain goods and services at a low unit cost, v'v" e.g., Japan. v

Specialisation v
+ Specialisation in the production of certain goods and services allows some
countries to produce them at a lower cost than others v'v*

+ For example, Japan produces electronic goods and sells these at a lower price
vV

(Accept other correct relevant responses.) Max. (26)
ADDITIONAL PART

Positive impact by:

* increasing the quantity of exports as South African products can become
affordable in countries with stronger currencies v'v/

+ attracting a lot of international tourists from rich countries as their currencies can
give them more value for their money in South Africa v'v/

+ improving the Balance of Payment if the country earns more money from its
exports than what it pays for its imports v'v*

« discouraging imports of goods that are also produced by South African firms,
therefore increasing consumption of local products v'v*

Negative impact by:

* making imported inputs expensive thereby resulting in cost push inflation as
producers may have to increase their prices v'v/

+ creating a deficit on the balance of payment if the amount of money paid on imports
is more than the one received from exports v'v’

(Accept any other correct relevant responses.)

(Allocate a maximum of 2 marks for mere listing of facts.) (2)
Conclusion

« It is important for countries to clearly make assessment of which products give
them absolute advantage and/or comparative advantage as this can help them
to trade successfully with other countries v'v*
(Accept any other correct higher order conclusion.) (Max. 2) (2)
[40]

QUESTION 6: MACROECONOMICS

+ Discuss in detail the main objectives of the public sector in the economy.
(26 marks)
* How effective is the South African government in achieving full
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employment? (10 marks)
INTRODUCTION

The main objectives of the state are to serve the citizens of the country and bring about
the systematic development for all of them. v'v*
(Accept any other correct relevant introduction.) Max. (2)

MAIN PART

Economic growth v
+ Economic growth refers to an increase in the production of goods and services in
the economy vV
+ The state must ensure that there is sustainable growth as it leads to an
improvement in the standard of living vV
» For economic development to take place, economic growth rate must be higher
than the population rate vV

Exchange rate stability v
+ Depreciation and appreciation create uncertainty for producers and investors and

should therefore be limited. Vv

» The state tries to protect the country’s currency from excess fluctuations v'v/
* Monetary and fiscal policies are used to ensure that exchange rate remains
relatively stable for longer periods vV

Full employment v
* This means that all persons who would like to work and who are looking for work

should be able to find work or be self-employed vV
* High levels of employment is one of the crucial economic objectives for all
governments v'v/

Economic equity v
* In South Africa the government uses a progressive tax system to provide for free
services to all its deserving people. vV
* Free social services such as basic education, primary health care, basic economic
services and paying cash grants to the poor and other vulnerable people vV
* Aredistribution of income and wealth is important in market economies v'v/
Price stability v
* In South Africa the relative price stability means maintaining an inflation rate of
between 3% and 6% vV
* A market economy performs better when prices are stable vV
* Any country strives for its prices not to fluctuate v v/
(Accept any other correct relevant response.)
(Mark subheadings and examples to a maximum of 8 marks.) Max. (26)

ADDITIONAL PART
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« Simulating economic growth and performance of these enterprises by introducing
innovative methods by private experts v'v'

+ Providing additional funds to the government through taxes which can make funds
readily available for the provision of services v'v'

* Promoting community economic participation rate while accelerating service
delivery v'v/

+ Relieving the government from the financial burden placed by SOES like SAA
thus leaving the state with more funds to invest on service delivery. v'v/ (10)

(A maximum of 2 marks for mere listing of facts.)

CONCLUSION

The state uses the national budget to try and achieve all its objectives using taxes
a major source of income. vV

(Accept any other correct relevant response.) Max. (2)
[40]

TOTAL SECTIONC: 40
GRAND TOTAL: 150
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